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[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.

Answer in not more than two sentences (All are compulsory) 20
Define Voluntarily as per IPC.

Exception of Duress as per Section 94.

Who is a Thug?

What is Wrongful Confinement?

Define Affray.

What is criminal breach of trust?

What are the limitations to the right to private defence as per section 997
What is cheating by personation?

Give two examples of public nuisance.

Define criminal intimidation.

Write Short notes on (Any Four) : 20
Abduction

Capital Punishment should be abolished

Grievous Hurt.

Offences relating to religion.

Housebreaking.

Adultery.

Solve Any Two (With reasons): 12

- Kishan while playing cricket with his friend directs the ball towards Gopi in such a way that it

hits her dress. Gopi smiles and walks away. Gopi’s mother is annoyed at this incidence.
Has Kishan used force against Gopi?
Can Gopi’s mother file a case of criminal force against Kishan?

Minu is lost in Kumbhmela in 2015. Nothing has been heard of her ever since. Her husband Mayur
marries Tina without disclosing to her that he is previously married.

Is Mayur guilty of any offence?

Would it have made any difference if Minu had been lost in 20097

Ravan is sentenced to 3 years rigorous imprisonment for committing robbery. He is also asked to

pay Rs. 1000 fine. Due to misbehavior in jail. The jailor has decided to give him 3 months solitary
confinement at the rate of 15 days every alternate month for a year.
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Q.P. Code :20408

i) Is the jailor’s decision for solitary confinement sound in law?
ii) What would be the decision if Ravan is unable to pay the fine?

Answer in Detail (Any Four) : 48

a) What is the logic behind the various theories of punishment? In the modem day context what
would be most suitable approach towards punishment?

b) All murder is culpable homicide but All culpable homicide is not Murder. Explain.

c) Write a detailed note on the offences of Robbery and Dacoity.

d) Explain with the help of examples the new offences against women (except rape amendments)
introduced by the Criminal Law Amendment Act, 2013.

e) Explain with the help of examples the offences relating to Elections.

f) What are General Explanations? Explain any five with the help of examples.
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Please check whether you have got the right question paper.
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